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OD numbers refer to the Östen Dahl questionnaire numbers.

Tha an taigh mòr.

be.pres the.sg.m house.sg big

The house is big.

Note: this applies whether or not the house is visible to the speaker. OD 1,2

Note: substantive be with adjectival predicate

A’ bheil Bob aig an uinneag?

Inter be.pres.dep Bob at the.sg.f window.sg

Is Bob at the window?

Note: This is the neutral form of the question.

An ann aig an uinneag a tha Bob?

cop.pres.interrog in.3sg.m at the.sg.f window.sg wh-comp be.pres Bob

Is Bob at the window?

Lit: Is it at the window that Bob is?

Note: This is the form that might be used if Bob usually comes to the door.

Note: VP predicate cleft

Note: Prepositional augment

Note: Copula

An e Bob a tha aig an uinneag?

cop.pres.interrog 3sg.m Bob wh-comp be.pres the.sg.f window.sg

Is Bob at the window?

Lit: Is it Bob that is at the window?

Note: This is the form that might be used if it’s usually John who comes to the window.

Note: argument cleft

Note: pronominal copular augment

Note: Copula

‘S e taigh mòr a th’ ann.

cop.pres 3sg.m house.sg big wh-comp be.pres in.3sg.m

It is a big house.

Lit: It is a big house that’s there.

Note: existential particle ann

Note: argument cleft

Note: pronominal copular augment

Note: Copula

‘S e taigh mòr gorm a th’ ann

cop.pres 3sg.m house.sg big blue wh-comp be.pres in.3sg.m

It is a big blue house.

Lit: It is a big house that’s there.

Note: existential particle ann

Note: argument cleft

Note: pronominal copular augment

Note: Copula

‘S ann gorm a tha an taigh (mòr).

cop.pres in.3sg.m blue wh-comp be.pres the.sg.m (big).

[No,] the (big) house is blue [not red].

Lit: It is blue that the (big) house is.

Note: adjectival predicate cleft

Note: prepositional copular augment

Note: Copula

Tha e a’ sgriobhadh litrichean.

be.pres 3sg.m prog write.vn letter.pl

He is writing letters.

Note: progressive aspect

Note: used as simple present

Tha e a’ sgriobhadh litir.

be.pres 3sg.m prog write.vn letter.sg

He is writing a letter.

Note: progressive aspect

Note: used as simple present

Bha e a’ sgriobhadh litrichean.

be.past 3sg.m prog write.vn letter.pl

He was writing letters.

Note: progressive aspect

Note: past tense auxiliary

Scribhidh e litir thugam.

write.fut 3sg.m letter.sg to.1sg

He will write me a letter.

Note: Response to OD 15

Bhitheadh i air litir a sgriobhadh thugam. 

be.cond 3sg.f perf letter.sg tran write.vn to.1sg

She would have written (been writing) me a letter.

Note: Response to “If you hadn’t visited her today, what would she have done?”

Note: Bhitheadh is the “long form” of bhiodh

Note: Object shift

‘S e litir a bhitheadh i air sgriobhadh thugam. 

cop.pres 3sg.m letter.sg wh-comp be.cond 3sg.f perf write.vn to.1sg

She would have written (been writing) me a letter./It’s a letter she would have written me.

Note: Response to “She would’ve written you a book, right?”

Note: argument cleft

Note: pronominal copular augment

Note: Copula

Note: Transitive marker missing, why???

Bithidh i a’ sgriobhadh litrichean.

be.fut 3sg.f prog write.vn letter.pl

She is/will be writing letters/she writes letters.

Note: Response to “When you visit your friend each summer—what does she do when you’re there?” or “…what will she be doing when you’re there?” or “What does Mairi do at work?” or “What do you think she’s doing right now?”

Note: Habitual actions, even if describing the present can be produced with the future form of the auxiliary.

Sgriobhaidh i litrichean.

write.fut 3sg.f letter.pl

She will write letters.

Note: Possible response to “What does Mairi do at work?” or “What do you think she’s doing right now?”

Note: Habitual actions, even if describing the present can be produced with the future form of the auxiliary.

Tha mi a’ dol a sgriobhadh litrichean.

be.pres 1sg prog go.vn tran write.vn letter.pl

I am going to write letters/be writing letters.

Note: second “a” here is the transitive marker found with infinitives.

Sgriobh Mairi litir.

write.past Mary letter.sg

Mary wrote a letter.

Note: simple past

[Fhad’s a] sgriobh Mairi litir, dh’fhoirich mise anns a’ ghàrradh.

[while]         write.past Mary letter.sg, stay.past 1sg.emph in the.sg.m garden.sg

While Mary wrote a letter, I waited in the garden.

Bithidh i a’ sgriobhadh litrichean.

be.fut 3sg.f prog write.vn letter.pl

She will be writing letters.

Note: OD 16

Bhitheadh i a’ sgriobhadh litrichean.

be.cond 3sg.f prog write.vn letter.pl

She would be writing letters.

Note: OD 20

Sgriobhadh i litrichean.

write.cond 3sg.f letter.pl

She would write letters.

Note: OD 20
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She is going to be writing letters.

Note: OD 27

Note: borrowed construction?
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She is going to be writing letters.

Note: OD 27

Note: borrowed construction?

Cha do sgriobh i a’ litir luath idir?

not past write.past 3sg.f the.sg.f letter.sg fast at-all

Did she write the letter quickly?

Note: OD 29

Note: Yes no question

[Mar as trice] tha an loch fuar, ach [an diugh] tha i blath.

[more often] be.pres the.sg.m cold but [today] be.pres 3sg.f warm

Usually the lake is cold, but today it’s warm.

Note: OD 30

Tha i fuar.

be.pres 3sg.f cold

It’s cold.

Note: OD 31

Note: Here ‘i’ refers to lake, so is feminine. This sentence does not refer to the weather in general

Bha i fuar.

be.past 3sg.f cold

It was cold.

Note: OD 32, 33

Note: Here ‘i’ refers to lake, so is feminine. This sentence does not refer to the weather in general

Bithidh i ro fhuar.

be.fut 3sg.f too cold

It will be too cold.

Note: OD 36

Note: Here ‘i’ refers to lake, so is feminine. This sentence does not refer to the weather in general

Tha mi air a coinneachadh martha.

be.pres 1sg perf poss.3sg.f meet.vn already

I have already met her.

Lit: I am on her meeting already
Note: OD 37

Note: Perfective marker ‘air’

Note: Object pronoun expressed as possessive pronoun on verbal noun

Tha mi dìreach air a coinneachadh.

be.pres just 1sg perf poss.3sg.f meet.vn

I’ve just met her.

Lit: I am directly on her meeting

Note: OD 38

Note: Perfective marker ‘air’

Note: Object pronoun expressed as possessive pronoun on verbal noun

Choinnich mi martha i [o chionn] fhada.

meet.past 1sg already 3sg.f [ago] long

I met her already years ago.

Note: OD 39

Note: o chionn is literally “from head”, but is used for “because”, “since” and “ago”

Choinnich mi [o chionn] fhad’ i.

meet.past 1sg [since] long 3sg.f

I met her years ago.

Note: OD 39

Note: pronoun post posing

Bithidh mi ga coinneachach tric.

be.fut 1sg prog.3sg.f meet.vn often

I meet her often. (Everywhere I go, I meet her—I’ve met her before, and I’m likely to meet her again.)

Note: OD 40

Note: aspect marker is inflected with possessive pronoun to stand for pronominal object of verb (ag + a = ga)

Cha do choinnich mi riamh i.

not past meet.past 1sg ever 3sg.f

I’ve never met her. (lit. I did not meet her ever)

Note: OD 41

Note: NSC says this could be put in the perfect, but it would sound marked, as English “I didn’t ever meet her.”

Note: pronoun post posing

Note: never is sentential negation paired with ever. 

An do choinnich thu riamh mo nighean?

interrog past meet.past 2sg ever poss.1sg girl.sg

Have you ever met my daughter? (Did you ever meet my daughter?)

Note: OD 42

Note: no perfective marker in the Gaelic

An do choinnich thu riamh an nighean agam?

interrog past meet.past 2sg ever the.sg.f girl.sg at.1sg

Have you ever met my daughter?

Note: OD 42

Note: NSC notes this one might be preferred for rhythm?

Choinnich mi turas no dha e.

meet.past 1sg journey or two 3sg.m

I met him once or twice.

Note: OD 43

Note: Pronoun postposing

Bhithinn ga choinneachadh bho àm gu àm.

be.cond.1s prog.3sg.m meet.vn  from time to time

I’d meet him from time to time. (lit I’d be meeting him from time to time)

Note: OD 44

Note: aspect marker is inflected with possessive pronoun to stand for pronominal object of verb (ag + a = ga)

Note: incorporated subject nominal (or pro-drop)

Choinnichinn e bho àm gu àm.

meet.cond.1sg 3sg.m from time to time

I’d meet him from time to time.

Note: NSC reports this would be more common for a future event, e.g., “If he moved to town, I would meet him from time to time”

Note: incorporated subject nominal (or pro-drop)

An do choinnich thu ri mo phiuthar an-dè?

Q past meet.past 2sg with poss.1sg sister.sg yesterday

Did you meet with my sister yesterday?

Note: OD 45

Choinnich mi rithe gu dearbh.

meet.past 1sg with.3sg.f adv certain.

(Yes,) I met with her certainly.

Note: OD 46

Note: inflected preposition

Cha do choinnich idir.

not past meet.past at-all

(No,) I didn’t meet with her (at all).

Note: OD 47

Note: pro-drop her is probably contextual, based on the elicitation technique that asks a question. This sentence would not be ok unless responding to a question with full pronouns.

Bha mi air a coinneachadh martha.

be.past 1sg perf poss.3sg.f meet.vn already

I had already met her. (Lit: I was on her meeting already.)

Note: OD 48

Note: Object pronoun expressed as possessive pronoun on verbal noun

Cha do choinnich mi riamh rithe.

not past meet.past 1sg ever with.3sg.f

I hadn’t ever met her. (Lit: I didn’t ever meet with her.)

Note: OD 51

Note: inflected preposition

Note: no perfective marking in Gaelic

Cha do choinnich mi rithe riamh.

not past meet.past 1sg with.3sg.f ever

I hadn’t ever met her. Lit: I did not ever meet with her.

Note: OD 51

Note: never is sentential negation paired with ever. 

Note: no perfective marking in Gaelic

Cha robh mi air a coinneachadh fhathast.

not be.past 1sg perf poss.3sg.f meet.vn yet

I hadn’t met her yet.

Lit: I was not yet on her meeting.

Note: OD 52

Note: Object pronoun expressed as possessive pronoun on verbal noun

Leugh e am fear seo martha.

read.past 3sg.m the.sg.m one.sg prox already

He has read this one already. Lit: He read this one already.

Note: OD 53

Note: no perfective in the Gaelic

Leugh e am fear seo.

read.past 3sg.m the.sg.m one.sg prox

He read this one.

Note: OD 54

Tha e air am fear seo a leughadh martha.

be.pres 3sg.m perf the.sg.m one.sg tran read.vn already

He (has) read this one already.

Lit: He is on this one’s reading already.

Note: Object shift
Note: OD 53

Chan eil. Chaochail e.

not be.pres die.past 3sg.m

No, he died. Lit: Is not. He died.

Note: OD 56 (Form of No is due to the elicitation prompt)

Tha e direach air caochlachadh.

be.pres 3sg.m just perf die.vn

He just died.

Lit: He is just on dying/leaving.

Tha e direach air falbhadh.

be.pres 3sg.m just perf leave.vn

He just died. Lit: He is just on leaving.

Note: euphemistic use of leaving for dying.

Tha a’  righ air a mharbhadh.

be.pres the.sg.m king.sg perf poss.3sg.m kill.vn

The king was/has been killed.

Lit: The king is on his killing.

Note: OD 57

Note: Perfective as passive

Note: resumptive possessive pronoun on verbal noun

Chaidh a’ righ a mharbhadh.

go.past the.sg.m king.sg poss.3sg.m kill.vn

The king was/has been killed.

Lit: The king went his murdering.

Note: OD 57

Note: Went (rach) passive

Note: resumptive possessive pronoun on verbal noun

Chuireadh an sgian air a’ bhòrd.

put.past the.sg.m knife.sg perf the.sg.m table.sg

The knife was put on the table.

Note: impersonal passive

Cha fhreagair e thu.

not answer.fut 3sg.m 2sg

[No matter what you ask him,] He doesn’t/won’t answer you.

Note: OD 77

Cha fhreagairadh e thu.

not answer.cond 3sg.m 2sg

[No matter what you asked him,] He wouldn’t answer you.

[Ge brith] de chuireas tu anns a’ bhaga seo, cha bhris e.

[whatever] wh-comp put.rel-fut 2sg in the.sg.m bag.sg prox, not break.fut 3sg.m 
Whatever you put in this bag, it won’t break.

Note: ‘bhris’ is the “shortened form” of ‘bhrisidh’

Note: OD 78

Ma chuireas tu clach anns a’ bhaga seo, bris e.

If put.rel-fut 2sg stone.sg in the.sg.m bag.sg prox, break.fut 3sg.m

If you put a stone in this bag, it will break.

Note: ‘bris’ is the “shortened form” of ‘brisidh’

Note: OD 79

Fiù’s ged a chuireadh tu clach anns a’ bhaga seo, cha bhris e.

even although wh-comp put.cond 2sg stone.sg in the.sg.m bag.sg prox not break.fut 3sg.m

Even if you put a stone in this bag, it wouldn’t break.

Note: OD 80

Dè thachras ma dh’itheas mi am flùr seo?

what happen.rel-fut if pst’eat.rel-fut 1sg the.sg.m flour.sg prox

What will happen if I eat this flour?

Note: OD 81

Marbhaidh e thu.

kill.fut 3sg.m 2sg

It will kill you.

Cuiridh e as dhut

put.fut 3sg.m out-of to.2sg

It will kill you.

Note: Idiomatic, like “It’ll off you.”

Dè thachradh nan ithinn am flùr seo?

what happen.cond if eat.cond.1sg the.sg.m flour.sg prox 
What would happen if I ate this flour?

Note: incorporated subject (or pro drop)

Mharbhadh e thu.

kill.cond 3sg.m 2sg

It would kill you.

Chuireadh e as dhut.

put.cond 3sg.m out-of to.2sg

It would kill you.

Note: Idiomatic, like “It’d off you.”

Dè thachras nuair a dh’itheas mi am flùr seo?  

what happen.rel-fut when wh-comp past’at.rel-fut 1sg the.sg.m flour prox

What will happen when I eat this flour?

Rinn’ e aon chasad.

make.past 3sg.m one cough.sg

He coughed once. (Lit: He made one cough.)

Note: OD 91

Rinn’ e dà chasad bheag.

make.past 3sg.m two cough.sg little

He coughed twice.

Lit: He made two little coughs.

Note: OD 92

Bha e a’ casadaich fad an fheasgar.

be.past 3sg.m prog cough.vn the-length-of the.sg.m afternoon

He was coughing all afternoon.

Note: OD 94; reported as natural for the situation which would produce English “he coughed many times.”

Note: a’ may be omitted in fast speech

Bha e a’ casadaich airson uair a’ thìde.

be.past 3sg.m prog cough.vn for hour.sg the.sg.m.gen time.sg.gen

He was coughing for an hour.

Note: OD 95

Note: a’ (prog) may be omitted in fast speech

Chasadaich e airson uair a’ thìde.

cough.past 3sg.m for hour.sg the.sg.m,gen time.sg.gen

He coughed for an hour.

Note: OD 95 

